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ERRATA

POSSIBLE TIME-REVERSAL NONINVARIANCE IN NUCLEAR FORCES. Ronald Bryan and Alexander
Gersten [Phys. Rev. Lett. 26, 1000 (1971)].

In Table I, the value of mz should be given as 962 MeV.
On page 1003, in the formula for P —A, h(8) should be starred, i.e., P —A = 8 1m[a*(8)t(8)]I, '(8).
The formula at the bottom of page 1003 which relates the time-reversal violating amplitude t(8) to

the scattering T matrix is incorrect and should be replaced by

t(8) = (II8t )&3~2[&'Sil TI'D &
-&'D I7'I'S&] sin8+ 5v 6 [& S'. I7'I'+2& —&'+2

I
7'I'&2&]»n8 cos8+

The correct formula for t(8) was used in all calculations of experimental observables, hence our tables
and graphs stand correct as published. However, the sequence of inequalities at the top of page 1004
should be replaced by

773, column 1, line 12 from bottom,
the phrase " ~ ~ of the reverse process Ne'-Ne"
should read: "-- ~ of the reverse process N'-Ne. "

In Fig. 3, the open circles should refer to 180-
keV Ne'-N, and the crosses to 180-keV Ne'-NH,
collisions.

In Fig. 2, 520=0.03 should be replaced by 54,
= 0.03 and also the multiplicative factor "& 100"
for the 14.1-MeV (4') form factor should be re-
placed by "~ 10."

In Table II, column 2, 0.005 and 0.001 should
be replaced by 0.05 and 0.01, respectively. GRAVITATIONAL %AVES IN CLOSED UNIVERS-

ES. Robert H. Gowdy [Phys. Rev. Lett. 27, 826
(1971)].

DETERMINATION OF THE DEFORMATION IN
"C FROM ELECTRON SCATTERING. A. Nakada, 771 (1971)].
Y. Torizuka, and Y. Horikawa [Phys. Rev. Lett.
27, 745 (1971)].

EXPERIMENTAL STUDY OF THE EFFECT OF
VELOCITY AND OUTER-SHELL CONFIGURA-
TION ON THE PROBABILITY FOR PRODUCING
K VACANCIES IN VIOLENT ION-ATOM COL-
LISIONS AT keV ENERGIES. B. Fastrup, G. Her-
mann, and Q. C. Kessel [Phys. Rev. Lett. 27,

In Eq. (16), m should be replaced by W.
On page 828, line 5, the statement that By/Bt

= cott whenever 0 =0 or 8 = z is incorrect. Actual-
ly, the derivative vanishes. Thus conicality is
avoided by requiring that y(0, t) =y(z, t) = 0 and
not ln sint. Equation (18) should be correspond-
ingly modified by omitting the ln sint term.
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